1 00 (Qoooog) 1

godd

1 00O @EOooooo)

11 000O0OOoooo(@ooooo)

0000 f(z00000000O000O00O0OO0OODO0OOODO0ODOOUOOOOODOODOOOO
oood

FO)+ PO+ 55O + 57O 0) + -+

FO)+ 3 ) (1)

()

e JOODO
00000000000000000000e%=1,sin0=0,c0s0=1000000000
gbooooboobooooooboooo

2. cosT =

3. sinx =

1.2 0000000

e —cosf+isind D00 ODO0OOOOOO

e OODO

1.3 000000000000000000000000

2.00000000000D0O0DO0ODLO0ODbObODbO

3. Lsing=cosf 000000

4. 0000 sina+ B =sinacosf+cosasin B0 e T8 =@ x P O000000000

5.sinf0 e?, e 0000000

0000 . tex 2015,/06,/01



go00d.tex

2 0000

2

2 0odo
2.1 00O

oobooboooooboooooo

. T _ —x

sinhz = <=¢ cosech x = ﬁ
x —x

coshx = £t~ sech z = ﬁ

tanh x = sinhz _ e*—e™®

_ 1
coshz = e?®+4e— 7 cothz = tanh =
e OO

1. sintx, cosiz 0O OO O
2. cosh?z —sinh?>2x 00000

3. sinhx, coshx OO0O0O000O00O0DOOOO
4. sinha, L coshas 000000
5. e 0 sinhx,coshx OO OOOO0O

6. e“tP =e* x e/ 0000 sinha+4 0000000000000

7. sinhzx, coshx,tanhz 0000000

2015/06/01



